Ar. M. X. Singh (Architect) (M.Arch, 11 I Roorkee) AHA. MCA

Member Council of Architecture, New Delhi Indian Institute of Architects, Mumbai Indian Institute of Valuers, New Delhi M. K. SINGH & ASSOCIAT

* ARCHITECTURE

* ESTIMATES & VALUATION

· LANDSCAPING

* INTERIOR DESIGN

Date 16-01-2019

Ref

To Whom it may concern

This is to certify that R. R. Polytechnicis located at Vill.-Hinduwari, Robertsganj, Distt-Sonebhadra (UP), Run by Ramratti Shakshik Avam Dharmarth Trust has an Institutional area, Administrative area and Amenities area according to AICTE and BTE norms, as on date in Institute Campus.

Room No.	Room Type (Mention Class room / lab / Toilet, etc.)	Carpet Area (In sq m)	Completion of flooring	Completion of Walls and painting	Completion of Electrification and lighting
C-1	Class Room	70.00	Ready	Ready	Ready
C-2	Class Room	70.00	Ready	Ready	Ready
C-3	Class Room	70.00	Ready	Ready	Ready
C-4	Class Room	70.00	Ready	Ready	Ready
C-5	Class Room	69.00	Ready	Ready	Ready
C-6	Class Room	70.00	Ready	Ready	Ready
C-7	Class Room	70.00	Ready	Ready	Ready
C-8	Class Room	69.00	Ready	Ready	Ready
C-9	Class Room	70.00	Ready	Ready	Ready
C-10	Class Room	70.00	Ready	Ready	Ready
CC	Computer Centre	157.00	Ready	Ready	Ready
LRR	Library & Reading Room	336.50	Ready	Ready	Ready
T-1	Tutorial Room	33.10	Ready	Ready	Ready
T-2	Tutorial Room	33.10	Ready	Ready	Ready
T-3	Tutorial Room	35.10	Ready	Ready	Ready
W/S	Workshop	207.00	Ready	Ready	Ready
AWS	Additional Workshop	200.00	Ready	Ready	Ready
LAB-1	Laboratory	70.00	Ready	Ready	Ready
LAB-2	Laboratory	69.00	Ready	Ready	Ready
LAB-3	Laboratory	69.00	Ready	Ready	Ready
LAB-4	Laboratory	70.00	Ready	Ready	Ready

= 90-C, New Lashkar Line, Balgahana, Allahabad

Regd. Off.

#1st Floor, Dayal Chambers, 3way Road Rajarammohan
Rai Marg: Hazratgapy, Lucknow
egd. Off.

Office of the Company of the C

Ar. M. K. Singh M. Arch. (I.I.T. Roorkee) C.O.A. Reg. No. -CA/2000/25605 90-C, New Laskar Line Bairahana, Allahabad Ph. 9335157846, 0531-2434442

LAB-5	Laboratory	70.00	Ready	Ready	Ready
LAB-6	Laboratory	69.00	Ready	Ready	Ready
LAB-7	Laboratory	66.53	Ready	Ready	Ready
LAB-8	Laboratory	66.20	Ready	Ready	Ready
LAB-9	Laboratory	66.20	Ready	Ready	Ready
LAB-10	Laboratory	66.20	Ready	Ready	Ready
LAB-11	Laboratory	66.20	Ready	Ready	Ready
LAB-12	Laboratory	70.00	Ready	Ready	Ready
LAB-13	Laboratory	69.00	Ready	Ready	Ready
LAB-14	Laboratory	69.00	Ready	Ready	Ready
LAB-15	Laboratory	69.00	Ready	Ready	Ready
LAB-16	Laboratory	70.00	Ready	Ready	Ready
LAB-17	Laboratory	70.00	Ready	Ready	Ready
LAB-18	Laboratory	70.00	Ready	Ready	Ready
LAB-19	Laboratory	70.00	Ready	Ready	Ready
LAB-20	Laboratory	69.00	Ready	Ready	Ready
LAB-21	Laboratory	66.20	Ready	Ready	Ready
LAB-22	Laboratory	70.00	Ready	Ready	Ready
LAB-23	Laboratory	66.20	Ready	Ready	Ready
LAB-24	Laboratory	70.00	Ready	Ready	Ready
L L	Language Lab.	66.00	Ready	Ready	Ready
SH-1	Seminar Hall	141.68	Ready	Ready	Ready
DH	Drawing Hall	141.68	Ready	Ready	Ready
	Total Instructional	3699.69	Ready	Ready	Ready
BR	Board Rooms	20.80	Ready	Ready	Ready
ECO	Exam Control Office	34.50	Ready	Ready	Ready
FR-1-40	Faculty Rooms1-40	228.00	Ready	Ready	Ready
HOD 1	Cabin for HOD	25.00	Ready	Ready	Ready
HOD2	Cabin for HOD	25.00	Ready	Ready	Ready
HOD 3	Cabin for HOD	25.00	Ready	Ready	Ready
HOD 4	Cabin for HOD	25.00	Ready	Ready	Ready
HOD 5	Cabin for HOD	25.00	Ready	Ready	Ready
HOD 6	Cabin for HOD	25.00	Ready	Ready	Ready
HOUSKI	Housekeeping	12.63	Ready	Ready	Ready
MAIN	Maintenance Room	11.93	Ready	Ready	Ready
OAI	Office Of Inclusive	155.00	Ready	Ready	Ready
PFS	Pantry For Staff	11.36	Ready	Ready	Ready
PR O	Principal Office	34.50	Ready	Ready	Ready
P 0	Placement Office	54.65	Ready	Ready	Ready
SEC	Security Room	16.73	Ready	Ready	Ready
CS	Central Store	54.65	Ready	Ready	Ready
	Total Administrative	784.75	Ready	Ready	Ready
BCR	Boys Common Room	75.40	Ready	Ready	Ready
GCR	Girl Common Room	75.40	Ready	Ready	Ready
SS	Stationery	19.62	Ready	Ready	Ready

Ar. M. K. Singh M. Arch. (LLT. Roofk.2e) C.O.A. Reg. No.-CA/2000/25660 90-C, New Lasker Line Batteliana, Allahabad Ph.-5335157846, 0532-2434444

	Grand Total Carpet Area	6719.70	Ready	Ready	Ready
CA	Circulation Area	1718.21	Ready	Ready	Ready
CA	Total Carpet Area	5001.49	Ready	Ready	Ready
	Total Amenities	517.05	Ready	Ready	Ready
FA	First aid room	12.03	Ready	Ready	Ready
FA	Cafeteria	150.76	Ready	Ready	Ready
CAFE	Toilet	91.92	Ready	Ready	Ready
TM TF	Toilet	91.92	Ready	Ready	Ready

Signature of the Architect.

Name of the Architect : M K SINGH Registration No.: CA/2000/25665

Ar. M. K. Singh M. Arch. (K.I.T. Roorkee) C.O.A Seal: No.-CA/2000/25065 90-C. New Laskar Line (Dated): a. Allahabad Ph.-9 Place: Allahabad

a nskriti Enterprises CA 61/49A Kashipura Chowk,

Varanasi

Buyer R R Polytechnic Robertsganj Sonbhadra

Bill / Cash Memo

Invoice No.

12

Dated

2-Apr-2016

Mode/Terms of Payment

(Original)

Supplier's Ref.

Delivery Note

Prakash

Buyer's Order No.

Other Reference(s)

Dated

Despatch Document No.

Dated

Despatched through

Destination

Terms of Delivery

Amount per Quantity Rate

Nova PC

SI No

15 pcs 17,619.05 pcs

2,64,285.71

Tax @5%

5 %

13,214.29

Total

15 pcs

₹ 2,77,500.00 E. & O.E

Amount Chargeable (in words)

INR Two Lakh Seventy Seven Thousand Five Hundred Only

Description of Goods

We declare that this invoice shows the actual price of the goods described and that all particulars are true and

correct

This is a Computer Generated Invoice

for Sanskriti Enterprises

Bill / Cash Memo

Original





Ph. No.: 0542-3294244, 2311982 Email: msmcomputer@gmail.com

[F.Y.:2016-2017]

B 27/67, Indira Tower, Durgakund Road, Varanasi -1 , UP - India

UP

TIN: 09382101392

W.E.F.: 01/ 01/08

Purchaser: R R Polytechnic

Book No. :

Hindwar ,Robertganj

0005

Robertsganj

Senal No.: C-223

7668796526

Date of Issue: 09-Apr-16

r:
t

	Grandser.	W.E.F. :					
Sr. No.	Description of goods	Rate+Taxes	Rate (A)	Qnty(B)	Per	Amount(A*B) VAT	*
1	Processor Intel G3220 3.0GHZ SERIAL NO ATTACHED	3850.00	3666.67	20	Pcs.	73,333.40	4
2	Motherboard ECS H81H3- M4 SERIAL NO ATTACHED	3350.00	3190.48	20	Pcs.	63,809.60	4
3	Ram - DDR3 2GB PC	750.00	714.29	20	Pcs.	14,285.80	4
4	HDD - DESKTOP 320 GB	1300.00	1238.10	20	Pcs.	24,762.00	4
5	Cabinate Zebronics slim -	950.00	904.76	20	Pcs	18,095.20	4
6	Keyboard Zebronics 560 MULTIMEDIA	425.00	404.76	20	Pcs	- 8,095.20	4
7	LED LG - 15.6 SERJAL NO ATTACHED	4250.00	4047.62	2 20	Pcs	80,952.40	4

Dlink Cate- Cable- 450 mb

Remarks:

Other charges

Amount of discount

0.00

0.00

Goods once sold will not be return back in any condition. Warranty services

Net Amount

are provided as per manufacturer policy. Gifts / Schemes are not exchangeable.

Amount of VAT charged SAT @ 1 %

283,333.60 11,333.35 2833.34

Buyer's or His/Her Representative Signature -

Total amount of invoice (Round)

297,500.00

Amount (in words): Rupees Two Lac Ninety Seven Thousand Five Hundred Only

Pre-Authenticated,

Signature of authorized signatory

Signature of person issuing

Name- Sanjay Kuma

Status - Partner

Devaloped By- MSM Computers

Subject To Varanasi Jurisdiction

Thank you for doing business

SR.NO	Motherboard	Serial NO.	Processor	Serial NO.
1	ECS H81H3-M4	ev8137g60204304	Dual Core 3220	2L510100A5395
2	ECS H81H3-M4	ev8137g60204309	Dual Core 3220	2L510100A3328
3	ECS H81H3-M4	ev8137g60204102	Dual Core 3220	3E539095A3216
4	ECS H81H3-M4	ev8137g60204318	Dual Core 3220	2R539062A2204
5	ECS H81H3-M4	ev8137g60204314	Dual Core 3220	2R539062A2187
6	ECS H81H3-M4	ev8137g60204308	Dual Core 3220	2R538283A0209
7	ECS H81H3-M4	ev8137g60204302	Dual Core 3220	2R539051A0347
8	ECS H81H3-M4	ev8137g60204306	Dual Core 3220	2R539062A3255
9	ECS H81H3-M4	ev8137g60204319	Dual Core 3220	2R539051A2720
10	ECS H81H3-M4	ev8137g60204305	Dual Core 3220	3E539095A0544
	ECS H81H3-M4	ev8137g60204320	Dual Core 3220	2L510100A2370
	ECS H81H3-M4	ev8137g60204315	Dual Core 3220	2R539044A0034
	ECS H81H3-M4	ev8137g60204311	Dual Core 3220	2R539051A1433
	ECS H81H3-M4	ev8137g60204303	Dual Core 3220	2L510097A3987
	ECS H81H3-M4	ev8137g60204312	Dual Core 3220	2L510100A2243
	ECS H81H3-M4	ev8137g60204317	Dual Core 3220	2R539051A0535
	ECS H81H3-M4	ev8137g60204301	Dual Core 3220	2R539051A2073
	ECS H81H3-M4	ev8137g60204307	Dual Core 3220	2L510097A4027
	CS H81H3-M4	ev8137g60204310	Dual Core 3220	
	CS H81H3-M4	ev8137g60604316	Dual Core 3220	

SR.NO	LED LG 15.6	Serial NO.
1	16M38A	602incn3v862
2	16M38A	602incn3v875
3	16M38A	602inpt3v848
4	16M38A	602inwa3v865
5	16M38A	602inse50054
6	16M38A	602inwa50041
7	16M38A	602inkh4z981
8	16M38A	602inrc4y998
9	16M38A	602inyd4z970
10	16M38A	602inzy3v757
11	16M38A	602inse3v854
12	16M38A	602incn50027
13	16M38A	602invm3v847
14	16M38A	602inhz3v849
15	16M38A	602INHZ3777
16	16M38A	602incn3v851
	16M38A	602inhz4z969
	16M38A	602inxj3v842
	16M38A	602indp3v858
	16M38A	602incn3v779

The same	10	





Ph. No.: 0542-3294244, 2311982 Email: msmcomputer@gmail.com

[F.Y.:2016-2017]

B 27/67, Indira Tower, Durgakund Road, Varanasi -1 , UP - India TIN: 09382101392

Purchaser: R R Polytechnic

Hindwar ,Robertganj

Robertsganj

UP

W.E.F.: 01/01/08

Book No.:

0005

Serial No.:

C-224

	7668796526			Date of	Issue	: 09-Apr-16	
TIN o	f Purchaser:	W.E.F. :					i
Sr. No.	Description of goods	Rate+Taxes	Rate (A)	Qnty(B)	Per	Amount(A*B)	VAT%
i	Processor Intel CI3-4130 3.4GHZ SERIAL NO ATTACHED	7900.00	7523.81	5	Pcs.	37,619.05	4
2	Motherboard ECS H81H3- M3S SERIAL NO ATTACHED	3900.00	3714.29	5_	Pcs.	18,571.45	4
3	Ram - DDR3 2GB	750.00	714.29	5	Pcs.	3,571.45	
4	HDD Toshiba Desktop 1TB SERIAL NO ATTACHED	3300.00	3142.86	_	Pcs.	15,714.30	
5	Cabinate Zebronics	950.00	904.76	5	Pcs.	4,523.80	
6	Keyboard Zebronics 560 MULTIMEDIA	425.00	404.76	5_	Pcs	2,023.80	
7	Keyboard Zebronics PS2	425.00	404.76	25	Pcs	10,119.00	1
8	LED LG - 15.6 SERIAL NO ATTACHED	4250.00	4047.62	30	Pcs	121,428.60)
9	N Computing - X550 - SERIAL NO ATTACHED	16500.00	15714.29	5	Pcc	78,571.45	5
				-			
1							
							1
							1
						i	Ì
į					Ì		

Remarks: 1- Headphone - 50 Unit 2. Pendowe 84B- 5 Unit

Other charges Amount of discount Net Amount

0.00 292,142.90

0.00

Goods once sold will not be return back in any condition. Warranty services are provided as per manufacturer policy. Gifts / Schemes are not

exchangeable.

Amount of VAT charged SAT @ 1 %

2921.43

11,685.71

Buyer's or His/Her Representative Signature -

Total amount of invoice (Round)

306,750.00

Amount (in words): Rugges Three Lac Six Thousand Seven Hundred Fifty Only

Pre-Authenticated

Signature of auth

Name- Sanjay Kum

hiroice Signature of person issuing

Name- Sanjay Kumi

Thank you for doing business with us

Developed By- MSM Computers, Varanasi

Subject To Varanasi Jurisdiction

	قون.	Μ,	di.	_	
	The state of the s	1	Processor		Sr.NO
أوالما	1		CI3-4130		3e550108a3301
per l			CI3-4130		3e550108a2041
			CI3-4130		21529098a0948
		_	CI3-4130		3e550108a2108
		5	CI3-4130		21529098a1534
			Motherboard		Sr.NO
1		_	H81H3-M3S		EY4100G61100039
ļ			H81H3-M3S		EY4100G61100038
ŀ		3	H81H3-M35	_	EY4100G51100037
L		4	H81H3-M3S	1	EY4100G61100040
L		5	H81H3-M3S	1	EY4100G61100036
L			N COMPUTING	1	
L	1	1	X550	T	x550kitk5a02543
L	2	2)	K550	1	x550kitk5a02819
L	3	1	(550	1	x550kitk5902044
	4	X	(550	1	<550kitk5902307
	5	X	550	1	550kitk5902466
		Γ		Γ	
		Н	DD 1TB	Γ	
	1	To	oshibha	1	6t0v61fs6td
	2	To	oshibha	1	6t34yhfs6td
	3	To	oshibha	1	6t33dsfs6td
	4	To	shibha	1	6t0pgpfs6td
	5	Το	shibha	1	6t0v5pfs6td

Sr.NO_	LED LG 15.6	Serial No.
1	Control of the Contro	602inbs3v862
	16M38A	602inbs3v773
3		602inwa3v841
4		602inlv50032
	16M38A	602inub3v766
	16M38A	602inrc4z990
	16M38A	602inub4z982
	16M38A	602inub3V856
	16M38A	602inkh3v237
	16M38A	602inkh3v843
	16M38A	602inyd50002
	16M38A	602inse50030
	16M38A	602inQU3VA52
	16M38A	602inyd3v562
15	16M38A	602inpt4z968
16	16M38A	602inyd3v850
17	16M38A	602inse4z998
18	16M38A	602inkh4z837
19	16M38A	602inng3v839
20	16M38A	602inpt4z992
21	16M38A	602intx3v881
22	16M38A	602inlv3v784
. 23	16M38A	602inqu50028
24	16M38A	602incn4z635
25	16M38A	602intx3v785
26	16M38A	602inqu3v780
27	16M38A	602incn4z995
28	16M38A	602ingq4z999
29	16M38A	602inbs3v845
30	16M38A	602inyd4z994



INVOICE/CASH MEMO/BILL MPUTER SOF Computer & Perifherals Civil Line Road, Hotel Savera Complex, Robertsganj-Sonebhadra (U.P.) 231216 Tin No. 2 0 7 W.E.F. Mo.No 0 9 9 8 2 7 4 Sr. No. 0 Book No. To RR Polyteanic Callege, 19 911 Hinduras cod Mob No. Date Amount S.No. **Description of Goods** Rate Qty. Rs. antel Desktop Dead Pore 22942, 01 10 Pec 91501-91500= 931 MatherBoad, 29BRAM. 5009B HD.O. ATX Cabinet, Key Rad, Mouse (.9 15.5" LED moniter 02 10 Pec 46001. (190001m 0. Goods once sold will not be taken back any circumstances. Other Charges Our responsibility ceases after goods leave our premises/godown. Computer soffy shall be under no obligation to attend to warranty claim and/or free service during the **Net Amount** Warranty period if the buyers falls to, ake the payment in accordance with the terms of sale and/or on 17200= the prescribed due dates of payments. Upon payment the buyer shall be entitled to warranty service for the remainder, if any of the warranty period. Vat @ 1% Interest @ 2% P.M. will be recover on delayed payment. Rates applicable on the date of the billing shall be non negotiable and final. Vat @ 4% All warranty/replacement claims shall be as per the manufactures terms & condition through/at the authorised services centres. Any Transactions in my SBI A/c No. 310004123199 113750000 **Gross Total** Subject to Robertsganj Jurisdiction only. IFSC Code-SBIN0000170

Rupees (In Words) (

Signature of Authorised person

Signature of person issuing invoice

Status

Ref. No. PE/RRDCOP/Q/23-24

Date 25-01-2024

To,

The Chairman/ Director

R.R. Polytechnic

O/A Ramratti Shakshik Avam Dharmarth Trust

Hinduari, Robertsganj

Sonebhadra (U.P.)

Sub.: Quotation for Mining Technology & Mining Geology Lab Equipment

Dear Sir,

With reference to the above subject & your requirement, we are hereby submitting our best offer for the standard quality equipment as below & await your valued order for prompt and best attention at our end. It supercedes our previous offer, if any.

S.No.	Description of Goods	Qty.	Per	Unit	Amount
			Unit	Price	
1	Study and identification of important rock forming mineral in the hand specimen.				
	Collection of 10 Rocks Forming Minerals	2	1500	Each	3000.00
2	Study and identification of important rocks in hand specimen.				
	Collection of 50 Rocks	2	2000	Each	4000.00
3	Study and identification of geomorphological models.				
	Geomorphological Models (Set of 8)	1	5500	Set	5500.00
4	Study and identification of important economic minerals in hand-specimen.				
	Collection of 20 Minerals	2	1500	Each	3000.00
5	Study and sketch of model showing different types of faults, folds & their relation to				
	topography.				
a	Fold Models (Set of 8)	1	12000	Set	12000.00
b	Fold Models (Set of 8)	1	12000	Set	12000.00
6	Drawing of cross sections determination of dip strike from geological maps.				
	Dip & Strike Problems (Set of 4 Models)	1	6000	Set	6000.00
	Total				45500.00
	GST @ 18% Approx				8190.00
	Total Value				53690.00

Terms & Conditions of Supply:

- 1. Prices quoted are F.O.R. College.
- 2. GST @18% Extra or as applicable per Govt. Rules.
- 3. Delivery period 1-2 weeks from the date of receipt of confirm order with advance.
- 4. Payment 100% advance against the order before dispatch/ delivery or as mutually agreed.
- 5. Order once placed will not be cancelled in any circumstances.
- 6. Validity of offer 30 days from this date & thereafter subject to our confirmation.
- 7. All transactions are subject to Delhi Jurisdiction.

Thanking you & assuring ours best services & Co-operation.

Our Bank Details are as under: Bank Name: IDBI BANK C. A/c No.: 0200651100000842

BRANCH: Noida

RTGS/NEFT Code: IBKL0000200

Regards

PARAS ENGINEERS

Office | D-32 1st Floor Main Kanti Nagar Road | Delhi-110051